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5 E g MEAEEAL | HXG ] HEAL (e SRR A
RIRERS
& (BRE) lg 1M 1 kg 1,000 % |10 —10X%1,000
=10,000 M
& (2=) lg 50 % 100 g 100 % 10 —10X100
=1,000 M
T— L RZARy bk | 1g 1M 100 g 100 f% 10 —10%X100
=1,000 M
1 ‘ 30,000 1M —1x30,000
1lg 10 % 30 ke .
5 =30,000 M
B4 () 1lg 1M 500 g 500 f# 10 —10X500
=5,000 M
H 4 (1=) 1g 50 % 100 g 100 fi% 10 —10X100
=1,000 M
TIFFARYy N | 1g 1M 100 g 100 fi% 10 —10X100
=1,000 M
NIV L 1g 1H 3 kg 3000 1% |10F —10%3,000
=30,000 M
25 (RSS3%) |1lke 10 &% 5t 5,000 {5 | 1 —1X5,000
=5,000 M
IA5(TSR20%) | 1ke 10 & 5t 5,000 |1H —1X5,000
=5,000 M
EobAhHrZL 1t 10 50 t 50 fi% 100 ' —100X%50
=5,000 M
— KT 1t 10H 25t 25 fi% 100 1 —100X25
=2,500 M
NH 30 kg 10 M 2,400 ke 80 f% 100 4  —100x80
=8,000 M
CME iUl 5%k 0.05 CME Fi%#s | 10,000 | 144>k —1X10,000
FA 2 b | x10,000 f & =10,000 4
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N v 1ko 10 [ 50k 0 50 % 100 4 —100X%50
=5,000 1

N— KT i 1 ko 10 M 50k 0 50 % 100 4 —100X%50
=5,000 [

IR— VI 1k0 10 M 50k 0 50 fi% 100 . —100X50
=5,000 [

R/SA 1k0 10 [ 50k 0 50 fi% 100 §  —100X50
=5,000 1

e —y—Hv U | 1k 10 [ 10k 0 10 fi& 100 § —100X10
=1,000 M

e — Y —4T | 1keo 10 M 10k 0 10 f% 100 —100X10
=1,000 M

LNG ImmBtu | 1H 1000mmBtu | 10005 | 1 —1X1,000
=1,000 M
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& lg 10 &% 10g 10 i 100 1§ —100% 10
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R 1g 18 1 ke 1,000 % | 1 —1x1,000
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F 4 1g 10 &% 10¢g 10 % 100 5 —100X 10

=1,000 H
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(1) KOEBIFFD T4 EHERL)D ] #1g11, 100MNONEMEETIKESTEA
(14720 0FHE#RE24, 970MHELET)

S1lg 11, 200 MEENY LE-RCERE G T5&

5eE =L 1 gHimh DER
11,200 — 11,100 = 100 M
1 gHhHi- v oER TR 1 M7= 0 DFELE
100 M X 1,000 f% = 100,000
1 ¥ 7= 0 DFEL A= E JCE
100,000 4 X 3 K = 300,000 [
3 Koy DFEEEHT
R 819 SEEMCE 1EE TR
(24,970 1 +24,970 1) X3# = 149,820 M

ES YDA HE A SR
TR A AR FEokt
300,000 1] — 149,820 = 150,180 [

=1g 11, 00O0MIZMEFMNY LizKrclzie (i) 95 &

FefiE =V 1 gbhl- DFER
11,000 4 — 11,100 = A100H
1 gHi=h OFERE iR 1#d7= 0 DFEH
A100 M X 1,000 % = A100,000 [4
1#d7-0 O=EHR FEE KK SEE 72
/100,000 M X 3 = A300,000 4
3 Koy D FEBHT
A (ansIl) SEEACEL 1EIE TR
(24,970 [ +24,970 1) X3# = 149,820 [

SN P BS
JEH A TR T Hokt
A300,000 7 — 149,820 = A449,820 [
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=1t 43,000 FIZE EAAY LI-FRICER L () 75 &

FefiE =Y 1 tdh7- DERE
42,000 — 43,000H = A1,000H
1 tH=h 0EE s 1 7= =R
A1,000 H X 50fF = Ab50,000H
1#dH7- 0 D7ER FE B A JEE AR
/50,000 H X 3R = A150,000 H
3B DFEEENT
i (an=I) RN 1EE TR
(5,830 H+5,830 1) X3#% = 34,980 H

KA BRI
JEH 7R TR Tkt
A150,000 9 —  34,980H = A184,980 H

=1t 41,000 HITE F2 0 L-FfcERL (RE) 5 &

FeAE =1 1 tH-hoER

42,000 1 — 41,000/ = 1,000 H

1 tHimy DEL EER 1¥dH7- 0 DFERE
1,000 M X 50 1% = 50,000 H

1#d7= 0 DFEL FEE R JEE L
50,000 M X 3 = 150,000 M

3 Koy D FEBHT
B (anIl) SEERE 1EE R
(5,830 +5,830 ) X3#% = 34,980 H

ES DA HE S S B
TEE R TR T2t
150,000 4 — 34,9801 = 115,020 H




